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Question 1
Question Type: MultipleChoice

At what level do you create the structure of the operating concern?

Options: 
A- Sales organization level

B- Controlling area level

C- Client level

D- Company code level

Answer: 
C

Question 2
Question Type: MultipleChoice



Which of the following values can be calculated using result analysis? Note: There are 3 correct answers to this question.

Options: 
A- Cost of sales

B- Reserves for unrealized costs

C- Cost of goods manufactured

D- Gross margin

E- Work in progress

Answer: 
A, B, E

Question 3
Question Type: MultipleChoice

You want to run an assessment cycle in Profitability Analysis to allocate cost center costs during period-end closing for your

organization. Which of the following objects is part of the assessment cycle?



Options: 
A- Cycle iteration

B- Tracing factor

C- Sender cost objects

D- Template

Answer: 
B

Question 4
Question Type: MultipleChoice

You are implementing SAP S/4HANA and you want to run analytical reports off a single data model. Which statement best describes

reporting in SAP S/4HANA?

Options: 



A- Reporting can be either broad and deep for analysis, or speedy and simple, but not both.

B- Reporting on data in real time is difficult, and complex to design.

C- Reporting on data is available in real-time at every level of detail.

D- Reporting analytical data is always done in a business warehouse system.

Answer: 
C

Question 5
Question Type: MultipleChoice

Which setting in the cost center master data do you use to assign the same attributes to similar cost center?

Options: 
A- Cost center category

B- Cost center type

C- Object class



D- Standard hierarchy node

Answer: 
A

Question 6
Question Type: MultipleChoice

Which of the following statements apply to SAP S/4HANA embedded analytics? Note: There are 2 correct answers to this question.

Options: 
A- It is hosted on the SAP Cloud Platform and integrate seamlessly on the SAP S4/HANA on the Fiori Launchpad.

B- It is the core SAP S4/HANA license and users the same technical stack and user interface.

C- It uses core data services (CDS ) views to create virtual data models (VDMs ) for reporting.

D- It is used by dedicated BI users who need to go beyond the capabilities of Strategic Analysis Tools for reporting.

Answer: 



B, C

Question 7
Question Type: MultipleChoice

Which of the following statements best describe Product Cost by Order? Note: There are 2 correct answers to this question.

Options: 
A- It is used when you perform repetitive manufacturing.

B- It is recommended for products with a long production time.

C- It is used when full cost traceability is needed.

D- It is used when controlling by individual production lots or discrete quantities is needed.

Answer: 
C, D
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